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Please drag the black dots to view the graph interactively.
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3 Data Results
4 Unit Revenue $900 Total Revenue| $270,000
5 Fixed Cost ~ $50,000 Total Fixed Cost]  $50,000
6 Marginal Cost $400 Total Variable Cost] $120,000
7 Sales Forecast 300 Profit (Loss)] $100,000
8 Range Name Cell
9 Production Quantity 300 FixedCost C5
MarginalCost C6
ProductionQuantity C9
Profit F7
SalesForecast C7
E F TotalFixedCost F5
3 Results TotalRevenue F4
4 Total Revenue|=UnitRevenue*MIN(SalesForecast,ProductionQuantity) TotalVariableCost ~ F6
5 Total Fixed Cost]=IF(ProductionQuantity>0,FixedCost,0) REVEnTe -
6 | Total Variable Costj=MarginalCost*ProductionQuantity
7 Profit (Loss)|=TotalRevenue-(TotalFixedCost+TotalVariableCost)
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B C D E F
3 Data Results
4 Unit Revenue $900 Total Revenue] $270,000
5 Fixed Cost  $50,000 Total Fixed Cost] $50,000
6 Marginal Cost $400 Total Variable Cost] $120,000
7 Sales Forecast 300 Profit (Loss)] $100,000
8 Range Name Cell
9 Production Quantity 300 Break-Even Point 100 BreakEvenPoint F9
FixedCost C5
MarginalCost C6
ProductionQuantity C9
E F Profit F7
3 Results SalesForecast c7
4 Total Revenue]=UnitRevenue*MIN(SalesForecast,ProductionQuantity) TotalFixedCost F5
5 Total Fixed Cost]=IF(ProductionQuantity>0,FixedCost,0) TotalRevenue F4
6 | Total Variable Cost|=MarginalCost*ProductionQuantity TotalvariableCost  F6
7 Profit (Loss) =Tota-lRevenue-(TotaIFixedCost+TotaIVariabIeCost) UnitRevenue A
8
9 Break-Even Point]=FixedCost/(UnitRevenue-MarginalCost)
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Sales = (35) x (Seasonality Factor)x J Advertising+
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3 |Parameters:
4 |Unit Variable Cost $48
5 |Unit Price $65
6 |Salesforce Salary $9,000
7 |Fixed Overhead $23,000
8 [Seasonality 1.2
9
10 |Decision Variable:
11 |Advertising $10,000
12 B C
ﬁ Units Sold S 58517 131 Quarter Q1
T ig Units Sold =35*C8*SQRT(C11+($C$6/2))
16 |Sales Revenue $328,736 5 | Selizs Reve e =C14*$C$5
17 Cost of Sales $242,759 17 Cost of Sales =C14*$C$4
18 |Gross Margin $85,977 18 |Gross Margin =C16-C17
19 19
20 |Advertising Cost $10,000 20 [Advertising Cost =C11
21 |Total Fixed Costs $32,000 21 |Total Fixed Costs =3C$6+$C$7
22 22
23 |Profit $43’977 23 |Profit =C18-C20-C21
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3 |Parameters:
4 |Unit Variable Cost $48
5 [Unit Price $65
6 |Salesforce Salary $9,000
7 |Fixed Overhead $23,000
8 |Seasonality 1.2
9
10 |Decision Variable:
11 |Advertising $10,000 $40,000 $70,000 $100,000 $130,000 $160,000
12
13 Quarter 01 Q1 01 01 01 01
14 |Units Sold 5057 8860 11464 13577 15403 17035
15
16 |Sales Revenue $328,736 $575,894 $745,145 $882,512 $1,001,207 $1,107,250
17 Cost of Sales $242,759 $425,276 $550,261 $651,701 $739,353 $817,661
18 |Gross Margin $85,977 $150,618 $194,884 $230,811 $261,854 $289,588
19
20 |Advertising Cost $10,000 $40,000 $70,000 $100,000 $130,000 $160,000
21 |Total Fixed Costs $32,000 $32,000 $32,000 $32,000 $32,000 $32,000
22
23 |Profit $43,977 $78,618 $92,884 $98,811 $99,854 $97,588
3 L MR X N ANy Sy I—L» g
P i AS T8 K A7 240 5 B 2 Bt
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3 [Parameters:
4 |Unit Variable Cost $48
5 |Unit Price $65
6 |[Salesforce Salary $9,000
7 |Fixed Overhead $23,000
8 |[Seasonality 1.2
9
10 |Decision Variable:
11 |Advertising $10,000
12
13 Quarter Q1
14 |[Units Sold 5057
15
16 |Sales Revenue $328,736
17 | Cost of Sales $242,759
18 |Gross Margin $85,977
19
20 |Advertising Cost $10,000
21 |Total Fixed Costs $32,000
22
23 |Profit $43,977
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S5olver Parameters

Set Target Cell:
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3 |Parameters:
4 |Unit Variable Cost $48
5 |Unit Price $65
6 [Salesforce Salary $9,000
7 |Fixed Overhead $23,000
8 [Seasonality 1.2
9
10 |Decision Variable:
11 |Advertising $122,949
12
13 Quarter Q1
14 |Units Sold 14994
15
16 |Sales Revenue $974,610
17 | Cost of Sales $719,712
18 |Gross Margin $254,898
19
20 |Advertising Cost $122,949
21 |Total Fixed Costs $32,000
22
23 |Profit $99,949

A
=
=
\a

P S

Solver Results

Solver found a solution. &l constraints and
optimality conditions are satisfied.

i Keep Solver Solution
{_J Restare Original Yalues

Reports

BNEwer
Sensitivity
Limits

[ Cancel ] [Save Scenarin_--] [ Help ]
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3 |Parameters:
4 |Unit Variable Cost $48
5 |Unit Price $65
6 [Salesforce Salary $9,000
7 |Fixed Overhead $23,000
8 |Seasonality 1.2 0.7 0.8 1.3
9
10 Total
11 |Decision Variables: Advertising
12 |Advertising $10,000 $10,000 $10,000 $10,000 $40,000
13
14 Quarter Q1 Q2 Q3 Q4 Total
15 |Units Sold 5057 2950 3372 5479 16858
16
17 |Sales Revenue $328,736 $191,762 $219,157 $356,130 $1,095,785
18 | Cost of Sales $242,759 $141,609 $161,839 $262,988 $809,195
19 |Gross Margin $85,977 $50,153 $57,318 $93,142 $286,590
20
21 |Advertising Cost $10,000 $10,000 $10,000 $10,000 $40,000
22 |Total Fixed Costs $32,000 $32,000 $32,000 $32,000 $128,000
23
24 |Profit $43,977 $8,153 $15,318 $51,142 $118,590
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3 [Parameters:
4 |Unit Variable Cost $48
5 |Unit Price $65
6 |Salesforce Salary $9,000
7 |Fixed Overhead $23,000
8 [Seasonality 1.2 0.7 0.8 1.3
9
10 Total
11 |Decision Variables: Advertising
12 |Advertising $122,949 $38,868 $52,144 $145,076 $359,036
13
14 Quarter Q1 Q2 Q3 Q4 Total
15 |Units Sold 14994 5102 6664 17597 44357
16
17 |Sales Revenue $974,610 $331,638 $433,160 $1,143,813 $2,883,221
18 | Cost of Sales $719,712 $244,902 $319,872 $844,662 $2,129,148
19 [Gross Margin $254,898 $86,736 $113,288 $299,151 $754,073
20
21 |Advertising Cost $122,949 $38,868 $52,144 $145,076 $359,036
22 |Total Fixed Costs $32,000 $32,000 $32,000 $32,000 $128,000
23
24 |Profit $99,949 $15,868 $29,144 $122,076 $267,037
= L SN 22, N Vi an AV e
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3 |Parameters:
4 |Unit Variable Cost $48
5 |Unit Price $65
6 |Salesforce Salary $9,000
7 |Fixed Overhead $23,000
8 |Seasonality 1.2 0.7 0.8 1.3
9
10 Total
11 |Decision Variables: Advertising
12 [Advertising $24,077 $0 $12,575 $11,348 $48,000
13
14 Quarter Q1 Q2 Q3 Q4 Total
15 |Units Sold 7100 2742 3659 6441 19942
16
17 |Sales Revenue $461,503 $178,231 $237,821 $418,664 $1,296,219
18 | Cost of Sales $340,802 $131,617 $175,622 $309,167 $957,208
19 |Gross Margin $120,701 $46,614 $62,199 $109,497 $339,011
20
21 |Advertising Cost $24,077 $0 $12,575 $11,348 $48,000
22 |Total Fixed Costs $32,000 $32,000 $32,000 $32,000 $128,000
23
24 |Profit $64,623 $14,614 $17,624 $66,149 $163,011
B C D
14 Quarter Q1 Q2
15 |Units Sold [=35*C8*SQRT(C12+($C$6/2)) |=35*D8*SQRT(D12+(C12/3)+($C3$6/2))
E F G
14 Q3 Q4 Total
15 |=35*E8*SQRT(E12+(D12/3)+($C$6/2)) |=35*F8*SQRT(F12+(E12/3)+($C$6/2)) [=SUM(C15:F15)
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3 |Parameters:
4 |Unit Variable Cost $48
5 |Unit Price $65
6 |Salesforce Salary $9,000
7 |Fixed Overhead $23,000
8 |Seasonality 1.2 0.7 0.8 1.3
9
10 Total
11 |Decision Variables: Advertising
12 |Advertising $227,776 -$8,735 $125,861 $103,122 $448,023
13
14 Quarter Ql Q2 Q3 Q4 Total
15 |Units Sold 20242 6560 9996 17597 54395
16
17 |Sales Revenue $1,315,723 $426,392 $649,740 $1,143,813 $3,535,668
18 | Cost of Sales $971,611 $314,874 $479,808 $844,662 $2,610,955
19 |Gross Margin $344,112 $111,518 $169,932 $299,151 $924,713
20
21 |Advertising $227,776 -$8,735 $125,861 $103,122 $448,023
22 |Total Fixed Costs $32,000 $32,000 $32,000 $32,000 $128,000
23
24 |Profit $84,337 $88,253 $12,071 $164,029 $348,690
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Solver Options

| (1] 4 I

[ Cancel

| | Load Model .

[ Save Model..

Max Time: seconds
[terations:
Precision:  [0.000001
Tolerance: =
Conyergence: [0.0001

Help

[] &ssume Linear Model
[+ &szume Mon- Negative

Estimates Derivatives Search
# Tangent i Forward ) Mewton
{3 Quadratic {3 Central {3 Conjugate

l
J
-
L l

[] Use Automatic Scaling
] Show Meration Results
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3 [|Parameters:
4 |Unit Variable Cost $48
5 |Unit Price $65
6 |Salesforce Salary $9,000
7 |Fixed Overhead $23,000
8 |Seasonality 1.2 0.7 0.8 1.3
9
10 Total
11 |Decision Variables: Advertising
12 |Advertising $221,033 $0 $122,949 $104,093 $448,075
13
14 Quarter Q1 Q2 Q3 Q4 Total
15 |Units Sold 19946 6850 9996 17597 54389
16
17 |Sales Revenue $1,296,487 $445,268 $649,740 $1,143,813 $3,535,307
18 | Cost of Sales $957,406 $328,813 $479,808 $844,662 $2,610,688
19 |Gross Margin $339,081 $116,455 $169,932 $299,151 $924,619
20
21 |Advertising Cost $221,033 $0 $122,949 $104,093 $448,075
22 |Total Fixed Costs $32,000 $32,000 $32,000 $32,000 $128,000
23
24 |Profit $86,048 $84,455 $14,983 $163,059 $348,544
= L SN 22, S Vi an AV e
VY R AT T K 22 4 0 B 2 Bt
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B C D E F G H |
3 |Parameters:
4 |Unit Variable Cost $48
5 |Unit Price $65
6 [Salesforce Salary $9,000
7 |Fixed Overhead $23,000
8 [Seasonality 1.2 0.7 0.8 1.3
9
10 Total
11 |Decision Variables: Advertising Budget
12 |Advertising $24,077 $0 $12,575 $11,348 $48,000 <= $48,000
13
14 Quarter Q1 Q2 Q3 Q4 Total
15 |Units Sold 7100 2742 3659 6441 19942
16
17 |Sales Revenue $461,503 $178,231 $237,821 $418,664 $1,296,219
18 | Cost of Sales $340,802 $131,617 $175,622 $309,167 $957,208
19 |Gross Margin $120,701 $46,614 $62,199 $109,497 $339,011
20
21 |Advertising Cost $24,077 $0 $12,575 $11,348 $48,000
22 |Total Fixed Costs $32,000 $32,000 $32,000 $32,000 $128,000
23
24 |Profit $64,623 $14,614 $17,624 $66,149 $163,011
o AN 1 PLYA e
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Solver Parameters

Set Target Cell: -|
Equal To: @ Max O Min ) Yalue of: I:l

__ By Changing Cells:

[$C312.3F512 ==
__Subject to the Constraints: | Options I

$oF12 <= %1312 - Add

Reset All
ese
=

(Hetn )

Add Constraint

Cell Reference: Constraint:

(36312 [«= [2] [=31%12

| cancel | | &dd | [ Help |




